Pharmacokinetics, Pharmacodynamics, Pharmacology of Autonomic nervous system drugs, Autocoids

1.    The apparent volume of distribution of a drug 

a.    is usually larger for a basic drug than an acidic drug.

b.    is obtained by dividing the dose administered by its free concentration in the plasma.

c.    is inversely related to its elimination half-life

d.    may be reduced in cardiac failure. 

2.    Binding of drugs to plasma proteins show the following characteristics:

a.    the bound drug fraction is pharmacologically active.

b.    a drug with a larger volume of distribution is more likely to cause overdosage effects than when displaced from plasma protein binding.

c.    drug which is bound strongly to plasma protein will also be strongly bound to tissues.

d.    binding capacity can be reduced in advanced liver disease.

3.    Drugs administered by the oral route show the following characteristics:

a.    for most drugs absorption is by passive diffusion.

b.    for most drugs the dissolution rate is the rate limiting step.

c.    acidic drugs are mainly absorbed from the stomach.

d.    basic drugs dissolve more readily in the intestinal than in stomach fluid.

4.    The apparent volume of distribution of a drug:

a.    is a ratio indicating the relative distribution of the drug between plasma and its target site.

b.    is greater if it is more extensively bound to tissues than to plasma proteins.

c.    is directly related to its plasma half-life.

d.    is fairly constant over a wide dose range.

5.    Acetylcholine:

a.    has an ester group in its structure.

b.    is inactivated by both acetylcholinesterase and plasma pseudocholinesterase.

c.    is released at the pre-ganglionic nerve endings.

d.    produces a decrease in the force of cardiac contraction.

6.    D-tubocurarine:

a.    is well absorbed from the GIT.

b.    may produce significant ganglion blockade in large doses.

c.    actions can be reversed by neostigmine.

d.    has been shown to cause histamine release.

7.    Propranolol:

a.    has intrinsic agonist properties.

b.    is a relative specific beta one agonist.

c.    can cause bronchial constriction in asthmatic patients.

d.    is used in essential hypertension.

8.    Histamine causes:

a.    increased capillary permeability.

b.    gastric hyper-activity.

c.    bronchoconstriction.

d.    hypotension. 

9.    The following are physiological antagonists of histamine acting on bronchial smooth muscle:

a.    adrenaline.

b.    salbutamol.

c.    acetylcholine.

d.    bradykinin.

10.    Antihistamines antagonize histamine action by:

a.    stimulating the action of histaminase.

b.    competing with histamine for specific receptors.

c.    preventing the release of histamine from the cells.

d.    enhancing the excretion of histamine.

11.    Ephedrine:

a.     can act directly on alpha and beta receptors.

b.    is poorly absorbed orally.

c.    is resistant to the action of penicillamase.

d.    is readily effective against S.aureus.

12.    Propranolol:

a.     is a beta-1 and beta-2 adrenergic receptor blocker.

b.     should be used in care in patients receiving insulin.

c.     is contra-indicated in asthmatic patients.

d.     is extensively metabolized in the liver.

13.    The effects of beta-adrenergic blockade by propranolol include:

a.     decreased release of adrenaline from adrenal medulla.

b.     antagonism of the effects of noradrenaline on the heart.

c.     decrease of symptoms in thyrotoxic patients.

d.     bronchoconstriction in asthmatic patients.

14.   Histamine:

a.     is metabolized by enzyme in the gut.

b.     is chiefly excreted unchanged.

c.     is released in anaphylaxis. 

d.     stimulates nerve endings especially those mediating pain and itching.

15.    Side effects of chlorpheniramine:

a.      drowsiness.

b.      sweating.

c.      dry mouth.

d.      miosis.

16.    Atropine and hyoscine:

a.      at therapeutic dose may cause dryness of mouth and inhibit sweating.

b.      differ in their CNS effects.

c.      are contraindicated in glaucoma.

d.      are competitive antagonists of acetylcholine at nicotinic sites.

17.    Di-isopropyl fluorophosphate:

a.      inactivates cholinesterase irreversibly.

b.      penetrate the CNS because of its high lipid solubility.

c.      causes pupillary constriction.

d.      can be absorbed through the skin and mucous membrane.

18.    Atropine:

a.      acts competitively at muscarinic receptors.

b.      dilates the pupil.

c.      paralyses accommodation in the eye.

d.      causes dryness of the mouth. 

19.    Hypotension caused by D-tubocurarine is attributed to:

a.      its action on the CNS.

b.      its blocking action on sympathetic ganglia.

c.      the release of histamine.

d.      its direct vasodilator action.

20.    Noradrenaline:

a.      acts on beta-adrenergic receptors on the heart.

b.      action is terminated mainly by re-uptake.

c.      re-uptake is inhibited by the TCAs.

d.      is released from adrenergic nerve endings by tyramine.

21.    If the elimination of a drug follows first order kinetics it indicates:

a.     the drug is eliminated by a single process only.

b.    the drug forms only one metabolite.

c.    the rate of elimination is proportional to drug concentration.

d.    the rate of elimination is constant.

22.    Binding of a drug to plasma proteins:

a.     occurs only with the albumin fraction.

b.     slows down its dissociation from binding sites. 

c.     favors elimination of high clearance drugs.

d.     implies a high volume of distribution.

23.    Anaphylactic responses to a drug:

a.     are usually unrelated to the pharmacological effects of the drug.

b.     do not occur if the drug is taken orally.

c.     require prior response to the drug.

d.     are dose dependent.

24.   The following are antihistamines which act on H1 receptors:

a.     cimetidine.

b.     chlorpheniramine.

c.     phenacetin. 

d.     mepyramine.

25.    Diphenhydramine:

a.      may produce sensitization with repeated topical application.

b.      produces atropine-like side effects.

c.      has anti-motion sickness property.

d.      blocks histamine-induced gastric secretion.

26.    Antihistamines should not be used indiscriminately as they are likely to cause:

a.      drowsiness.

b.      changes in skin pigmentation.

c.      risk of sensitization.

d.      malignant skin changes.

27.    State true or false:

a.      affinity measures the ability of a drug to bind to the receptor.

b.      efficiency measures the biological response resulting from the binding of the drug to the receptor.

c.      potency measures the margin of safety of a drug.

d.      receptor is the biological component with which a drug interacts.

28.    Statement below refers to the distribution of drugs in the body.

a.      the greater the degree of ionization of a drug the more extensive will be its distribution.

b.      the placenta acts as an effective barrier to most drugs from the maternal to the foetal circulation.

c.      an acidic drug is more extensively distributed into intracellular fluid than extracellular fluid.

d.      during steady state distribution the free and bound drug fractions are equal in all body fluids. 

29.    The following characteristics refer to the renal clearance of drugs:

a.      a clearance of basic drugs can be enhanced by alkalinizing the urine.

b.      if when urine pH is modified from 5.3 to 7.4, the clearance of a drug increases from 92 to 183ml/min, this drug is acidic.

c.      the greater the lipid solubility of the drug, the greater will be its clearance value.

d.      if active tubular secretion is involved, then plasma protein binding will limit drug clearance.

30.    The time taken to reach steady state concentration when the drug is administered orally is determined by:

a.      the rate of absorption of the drug.

b.      the T1/2 of the drug.

c.      the dosing frequency.

d.      the bioavailability of the drug.

31.    The following drugs undergo significant first-pass effects:

a.     propranolol.

b.    penicillin G.

c.    phenytoin.

d.    tolbutamide.

32.    State true of false:

a.     noradrenaline is formed from adrenaline by the action of phenylethanolamine N-methyltransferase.

b.     dopamine is formed from L-dopa by the action of tyrosine 3-hydrolase.

c.     p-tyrosine is formed from phenylalanine by the action of phenylalanine-4-hydroxylase.

d.     tyrosine-3-hydroxyalse forms p-tyrosine from phenylalanine.

33.    When neostigmine is given to reverse the effects of d-tubocurarine, atropine is also given to:

a.     minimize the fasciculations of skeletal muscles.

b.     block muscarinic effects of d-tubocurarine.

c.     minimize parasympathetic effects of neostigmine.

d.     minimize central effects of d-tubocurarine.

34.   Methacholine differs from acetylcholine:

a.     in its longer duration of action.

b.     is hydrolyzed by AcH esterase at a faster rate.

c.     is resistant to hydrolysis by pseudocholinesterase. 

d.     has got predominant muscarinic action.

35.    Catecholamines:

a.      contain O-dihydrobenzene.

b.      produce increase in oxygen consumption.

c.      readily crosses the blood-brain barrier.

d.      are derived from beta-phenylethylalanine.

36.    Prazosin:

a.      dilates both the arterioles and venules.

b.      is a beta-adrenoceptor antagonist.

c.      has a t1/2 of 3h.

d.      is not extensively metabolized.

37.    Prostaglandin E2:

a.      causes constipation.

b.      causes bronchoconstriction.

c.      can protect the gastric mucosal cells against damage from anti-inflammatory analgesics.

d.      desensitizes afferent nerve endings to pain stimulated by bradykinin.

38.    Prostacyclin:

a.      is converted rapidly to its stable metabolite 6-keto-PGF2

b.      found more in the vessel wall than in platelets.

c.      causes bronchoconstriction.

d.      causes potent vasoconstriction. 

39.    Propranolol:

a.      blocks actions of both endogenous and exogenous sympathomimetic amines.

b.      alkylates the receptor by forming a covalent bond.

c.      blocks both the alpha and beta receptors.

d.      acts only on receptors in the CNS.

40.    Non-catecholamine sympathomimetics are:

a.      ephedrine.

b.      dopamine.

c.      phenylephrine.

d.      noradrenaline.

41.    The following drugs combine with the biological components indicated:

a.    physostigmine combines with cholinesterase.

b.    chloramphenicol attaches to the 50S subunit of bacterial ribosomes.

c.    antacids combine with the parietal cells of the stomach.

d.    acetylcholine combines with nicotinic receptors at the neuromuscular junction.

42.    Prostacyclin:

a.     can enhance platelet aggregation.

b.     can inhibit platelet aggregation.

c.     can cause hypotension.

d.     synthesis is inhibited by NSAIDs.

43.    Prostaglandins have a wide range of actions which include:

a.     inhibition of gastric acid secretion.

b.     bronchodilation.

c.     delay onset of labor.

d.     prevent platelet aggregation.

44.   Parasympathetic blockade is enhanced by:

a.     propantheline and cimetidine.

b.     hydralazine and tolbutamide.

c.     D-tubocurarine and succinylcholine.

d.     pilocarpine and bethanechol.

45.    If a drug undergoes significant first-pass effect, it means that:

a.      the drug is eliminated rapidly by the liver only.

b.      the renal clearance of the drug is high.

c.      the drug is poorly absorbed when administered.

d.      the drug undergoes rapid distribution initially.

46.    The following statements refer to the microsomal mixed function oxidase system:

a.      it acts specifically on drugs which belong to the same pharmacological class.

b.      the dosage of a drug may have to be decreased if enzyme induction occurs.

c.      enzyme inhibition usually occurs more rapidly than enzyme induction.

d.      contains multiple isozymes of cytochrome P450.

47.    Neostigmine:

a.      usually does not cross the blood-brain barrier.

b.      inhibits cholinesterase reversibly.

c.      is erratically absorbed after oral administration.

d.      can be used in the symptomatic treatment of myasthenia gravis.

48.    Propranolol is used the treatment of:

a.      hypertension.

b.      asthma.

c.      angina pectoris.

d.      allergic skin rashes.

49.    Noradrenaline at adrenergic nerve endings:

a.      is discharged by the process of exocytosis.

b.      is activated by COMT after re-uptake.

c.      is eventually demethylated to adrenaline.

d.      present in the mobile pool is displaced by tyramine.

50.    Adrenaline:

a.      increases liver glycogenolysis.

b.      causes coronary artery spasm.

c.      is used for diarrhoea.

d.      is the neurotransmitter at adrenergic nerve endings.

51.    The general pharmacological properties of non-catechol sympathomimetic amines include:

a.    CNS excitation.

b.    anorexia action.

c.    vasoconstriction.

d.    decrease in heart rate.

52.    The following refers to the acetylator status of individuals:

a.     variation in the acetylator status follows a normal frequency distribution.

b.     inhibition of phenytoin metabolism by isoniazid is greater in fast acetylators.

c.     slow acetylators are more likely to experience toxicity induced by acetylated metabolites.

d.     the majority of Chinese in Singapore are fast acetylators.

53.    Malathion:

a.     is metabolized into an inactive derivative in man.

b.     forms a stable complex with nicotinic receptors.

c.     is easily absorbed through the skin.

d.     effects can be antagonized by atropine.

54.   Hyoscine:

a.     is a specific antagonist at nicotinic receptors.

b.     does not produce depression at CNS.

c.     is contraindicated in glaucoma.

d.     causes urinary retention.

55.    The bioavailability of a drug:

a.      is always greater when the drug is administered intravenously than orally.

b.      refers to the systemic availability of the major metabolite of the drug.

c.      will be the same for all dosage forms if the same amounts of the drug is used.

d.      can be determined by estimating the area under the concentration-effect curve.

56.    With regards to gastrointestinal absorption of drugs:

a.      strongly acidic drugs are poorly absorbed from the intestines.

b.      delayed gastric emptying usually reduces the amount but not the rate of absorption.

c.      tetracycline absorption increases in the presence of calcium containing compounds.

d.      a rapid transit rate may result insufficient absorption of digoxin.

57.    Thiopentone is ultra-short acting because it undergoes:

a.      significant first-pass effect.

b.      rapid distribution into the brain.

c.      rapid redistribution.

d.      rapid dissociation from plasma protein binding.

58.    With regards to biotransformation of drugs by the liver:

a.      children usually have a much lower metabolizing capacity than adults.

b.      overdosage is less likely to occur if a drug undergoes capacity-limited metabolism.

c.      maximum clearance possible is equal to the hepatic blood flow rate.

d.      for drugs with a high extraction ratio, clearance is unaffected by minor changes in enzyme activity.

59.    Drugs which undergo capacity-limited metabolism:

a.      have a high therapeutic index.

b.      produce tolerance rapidly.

c.      plasma half-life will be dependent on dosage used.

d.      includes propranolol.

60.    The MFO system:

a.      is located on the smooth endoplasmic reticulum of the liver.

b.      acts on many pharmacologically unrelated drugs.

c.      can convert paracetamol to toxic metabolites.

d.      can be inhibited by different classes of drugs.

61.    The following drugs are excreted mainly unchanged:

a.    chlorpropamide.

b.    gentamicin.

c.    diazepam.

d.    propranolol.

62.    Cumulative toxicity is more likely to occur if a drug:

a.     undergoes zero-order elimination.

b.     dissociates readily into the urine.

c.     is highly lipid soluble.

d.     undergoes entero-hepatic cycling.

63.    The plasma elimination t1/2 of a drug:

a.     is inversely related to its clearance.

b.     is shorter after intravenous compared to oral administration.

c.     is not affected by changes in its apparent volume of distribution.

d.     largely determines its duration of action.

64.   The fraction of the total receptors to which a drug is bound is a function of:

a.     the drug concentration.

b.     the maximum drug effect.

c.     the dissociation constant for the drug-receptor.

d.     the potency of the drug.

65.    A competitive antagonist:

a.      acts through the same receptors as the corresponding agonist.

b.      shifts the dose-response curve to the right.

c.      is reversible.

d.      decreases the maximal response that can be obtained from a tissue.

66.    Drug-receptor interaction:

a.      non-competitive antagonist binds irreversibly with the receptor.

b.      more potent drug is not as useful clinically as a drug that is less potent but has higher efficacy.

c.      substances that do not interact with receptors have no pharmacological effects.

d.      the magnitude of a response is directly proportional to the rate of occupation of the receptor by the agonist.

67.    The following refer to the renal clearance of drugs:

a.      highly lipid-soluble drugs undergo excretion more readily.

b.      an acidic drug with pKa 1.5 will be largely reabsorbed at urine pH 5.5.

c.      theophylline is excreted mainly unchanged.

d.      excretion can involve active as well as passive processes.

68.    With regards to binding of drugs to plasma proteins:

a.      binding tends to limit the the elimination of drugs which undergo renal tubular secretion.

b.      the greater the degree of binding of a drug, the longer will be its half-life.

c.      hypoalbuminaemia can cause an increase in total plasma concentration of some drugs.

d.      a drug with a low binding capacity is more likely to cause adverse effects when displaced from binding. 

69.    The following decrease intra-ocular pressure:

a.      pilocarpine.

b.      tropicamide.

c.      timolol.

d.      promethazine.

70.    The following drugs can cause mydriasis:

a.      atropine.

b.      physostigmine.

c.      morphine.

d.      ephedrine.

71.    Noradrenaline is the neurotransmitter at:

a.    sympathetic preganglionic fibers.

b.    parasympathetic postganglionic fibers.

c.    parasympathetic fibers.

d.    sympathetic postganglionic fibers to the heart.

72.    Which of the following compounds is / are related to the structure of catecholamines?

a.     dopamine.

b.     tyramine.

c.     ephedrine.

d.     isoprenaline.

73.    Which of the following statements concerning infusion of catecholamines is / are true?

a.     noradrenaline increases pulse rate.

b.     isoprenaline increases pulse rate.

c.     isoprenaline increases peripheral resistance.

d.     noradrenaline increases blood pressure. 

74.   The following refer to sympathomimetic drugs:

a.     all sympathomimetic drugs produce their effects by acting on an adrenoceptor.

b.     non-catecholamines do not cross the blood-brain barrier.

c.     ephedrine is orally active.

d.     the effect of amphetamine is prolonged in patients with alkalinized urine.

75.    Which statement(s) is / are true concerning adrenoceptor antagonists?

a.      phenytoin produces a non-competitive blockade.

b.      propranolol has more intrinsic activity than proctalol.

c.      metoprolol is a relatively selective beta-antagonist.

d.      labetalol is an antagonist of alpha and beta adrenoceptors.

76.    Neuromuscular blockade is antagonized by:

a.      neostigmine.

b.      halothane.

c.      ampicillin.

d.      streptomycin.

77.    In the isolated rabbit small intestine preparation,

a.      phentolamine stimulates beta-adrenergic receptors to produce contraction.

b.      inhibition of contraction by isoprenaline are antagonized by propranolol.

c.      phentolamine increases spontaneous contraction.

d.      propranolol has significant action on spontaneous contraction.

78.    Plasma T1/2 of a drug:

a.      is the same as biological T1/2.

b.      is the time required for concentration of drug in plasma to be reduced by 1/2.

c.      is usually lengthened if biologically active metabolites are formed.

d.      determine steady state clearance. 

79.    Acetylcholine is the neurotransmitter at:

a.      sympathetic preganglionic nerve fibers.

b.      sympathetic postganglionic fibres to the heart.

c.      parasympathetic preganglionic fibres.

d.      parasympathetic postganglionic fibres.

80.    D-tubocurarine:

a.      is a quarternary ammonium compound.

b.      causes depolarizing type of neuromuscular blockade.

c.      has a shorter duration of action than succinylcholine.

d.      causes hypotension by blocking autonomic ganglia and stimulating histamine release from tissues.

81.    Succinylcholine:

a.    produces depolarizing neuromuscular blockade.

b.    action is enhanced by parathion.

c.    has long duration of action.

d.    causes flaccid paralysis in chicks.

82.    The following statement(s) about sympathomimetics is / are correct:

a.     sympathetic innervation is necessary for the action of catecholamines.

b.     infusion of noradrenaline increases diastolic and systolic mean blood pressure.

c.     infusion of adrenaline increases pulse rate in man.

d.     non-catechol sympathomimetics  are poor substrates of COMT and MAO.

83.    Catecholamines are used:

a.     to prolong the action of LA.

b.     to treat hyperthyroidism.

c.     in the management of shock.

d.     to treat pulmonary edema.

84.   At sympathetic nerve terminals:

a.     noradrenaline can activate presynaptic alpha1 receptors to inhibit further exocytic release of noradrenaline.

b.     TCAs inhibit membrane uptake mechanism for noradrenaline.

c.     exocytosis of noradrenaline is stimulated by indirectly acting sympathomimetics.

d.     the hydroxylation of tyrosine is regulated by feedback inhibition by noradrenaline.

85.    State true or false:

a.      alpha1 adrenoceptors are more sensitive to isoprenaline than to adrenaline. 

b.      beta1 receptors are more sensitive to isoprenaline than to adrenaline.

c.      alpha2 receptors are more sensitive to noradrenaline than to isoprenaline.

d.      beta2 receptors are more sensitive to noradrenaline than to adrenaline.

86.    State true or false:

a.      amphetamines decrease both diastolic and systolic blood pressure.

b.      the d-isomer of amphetamine is more potent than l-isomer.

c.      the effects of amphetamine on the CNS last only a few minutes.

d.      amphetamine produces reflex tachycardia.

87.    Propranolol and metoprolol have similar:

a.      apparent volume of distribution.

b.      bioavailability.

c.      plasma protein binding.

d.      half-life.

88.    Histamine:

a.      is formed by methylation of histidine.

b.      release from mast cells is stimulated by high concentration of cAMP.

c.      is metabolized mainly to N-methyl imidazole acetic acid.

d.      may be released from storage sites by morphine. 

89.    The distribution of a drug:

a.      from the circulation only involves the free unbound fraction.

b.      into the brain may be more restrictive than into other tissues.

c.      across the placenta only with lipid soluble drugs.

d.      into the intracellular fluid is generally greater for a basic than for an acidic compound.

90.    Succinylcholine:

a.      is used as a muscle relaxant.

b.      is longer-acting than tubocurarine.

c.      depolarizes the nicotinic receptors at the neuromuscular junction.

d.      is rapidly excreted by the kidneys.

91.    Anti-histamines (H1 antagonist) are used for

a.
Allergic rhinitis

b.
Diarrhea

c.
Constipation

d.
Peptic ulcer disease

92.    Neostigmine:


a.
used to remove NMJ blockade by succinylcholine

b.
causes abdominal pain

c.
has CNS effects

d.
has shorter duration than Er

93.    The following antimuscarinic drugs are matched correctly with their clinical use

a.
Benzhexol - prophylaxis against motion sickness

b.
Pirenzepine - gastric ulcer

c.
Ipratropium - bronchial asthma

d.
Atropine - antispasmodic

94.    A partial agonist

a.
has no intrinsic activity and affinity

b.
has affinity but not intrinsic activity

c.
shifts the log dose response curve to the right

d.
has the same Emax as a full agonist

95.    The following drugs cause vasoconstriction by increasing activity at alpha-adrenoreceptors

a.
theophylline

b.
cocaine

c.
prazosin

d.
methoxamine

96.    The following are true for synthetic non-catechol amines

a.
not acted on by COMT

b.
not acted on by MAO

c.
longer duration of aciton than catecholamines

d.
greater bioavailability than catecholamines

Pharmacology of the Cardiovascular and Central Nervous Systems
 

1.    The following drugs block the uptake of noradrenaline at nerve endings:

 

a.    amitryptiline.

b.    cocaine.

c.    chlorpromazine.

d.    tyramine.

 

 

2.    Heparin:

 

a.    is not administered orally.

b.    is active only in vitro.

c.    has a longer half-life than warfarin sodium.

d.    crosses the placenta.

 

 

3.    Warfarin sodium:

 

a.    is usually given parenterally.

b.    decreases the synthesis of prothrombin.

c.    is antagonized by Vitamin K.

d.    has a long onset of action.

 

  

4.    Morphine:

 

a.    produces a rise in the threshold for pain tolerance.

b.    causes alteration in the reaction to pain.

c.    produces relief from visceral, somatic and cutaneous pain.

d.    is more effective for sharp, intermittent pain than dull constant pain.

 

  

5.    Respiratory tract irritation is characteristic during induction of anaesthesia with:

 

a.    halothane.

b.    nitrous oxide.

c.    cyclopropane.

d.    enflurane.

 

  

6.    Nitrous oxide:

 

a.    can form explosive mixtures with ether.

b.    produces surgical anaesthesia only if administered at greater than 90% 

c.    is usually administered with oxygen to prevent serious anoxia.

d.    can produce fantasies during induction.

 

  

7.    Benzodiazepines:

 

a.    have specific anti-anxiety effects than other sedatives-hypnotics.

b.    show major qualitative differences in their pharmacodynamic properties.

c.    do not cause drug dependence.

d.    have a high margin of safety which is increased when taken with alcohol.

 

  

8.    Intravenous thiopentone:

 

a.    is ultra-short acting because it is rapidly metabolized.

b.    can cause larygnospasm.

c.    is used as an induction agent for general anaesthesia.

d.    is highly lipid-soluble. 

 

 

9.    The following general anaesthetics can sensitize the myocardium to the effects of circulating catecholamines:

 

a.    ether.

b.    cycloproprane.

c.    halothane.

d.    trichloroethylene.

  

 

10.    Enkephalins:

 

a.    are pentapeptides with morphine-like activity.

b.    have a longer duration of analgesic action compared to beta endorphin.

c.    are antagonized by naloxone.

d.    are degraded by carboxypeptidases and aminopeptidases.

11.    The following unwanted effects may result from the use of glyceryl trinitrate:

 

a.     headache.

b.    hypertensive crisis.

c.    palpitations.

d.    dizziness.

 

 

12.    Direct effects of quinidine on the heart include:

 

a.     slowed AV conduction.

b.     increase myocardial excitability.

c.     diminished myocardial contractility.

d.     lengthening of the refractory period.

 

 

13.    Thiazide diuretics:

 

a.     have an anti-hypertensive effect.

b.     produce a marked diuresis of short stature.

c.     may cause hyperglycaemia.

d.     act mainly at the ascending limb of loop of Henle.

 

 

14.   The following anti-hypertensive agents are known to cause CNS depression:

 

a.     reserpine.

b.     thiazides.

c.     hydralazine.

d.     clonidine.

 

 

15.    Phenytoin:

 

a.      is used for grand mal seizures.

b.      elimination kinetics can change from first-order to zero order as the dose is increased.

c.      has anti-arrhythmic effects.

d.      can cause gum hypertrophy on prolonged usage.

 

 

16.    Naloxone:

 

a.      is a competitive opiate antagonist.

b.      antagonizes the respiratory depression produced by morphine.

c.      will precipitate a withdrawal syndrome in a chronic heroin user.

d.      will potentiate the actions of endorphins.

 

 

17.    The following general anaesthetic agents are explosive:

 

a.      ether.

b.      di-vinyl ether.

c.      nitrous oxide.

d.      halothane.

 

 

18.    Heparin:

 

a.      is destroyed when taken orally.

b.      does not cross the placenta.

c.      is longer-acting than warfarin.

d.      acts by decrease in synthesis of clotting factors. 

 

 

19.    Tricyclic antidepressants:

 

a.      are used for treating childhood enuresis.

b.      have long onset of action.

c.      produce euphoria in normal individuals.

d.      cause tachycardia.

 

 

20.    The pharmacokinetic properties of benzodiazepines include the following:

 

a.      diazepam is absorbed faster than oxazepam after oral administration.

b.      N-desmethyldiazepam (nordiazepam) is an active metabolite of several benzodiazepines.

c.      temazepam has a shorter plasma half-life than diazepam.

d.      elimination of long-acting compounds are likely to decrease in the presence of liver disease.

 

21.    Phenytoin:

 

a.     has saturable metabolic kinetics.

b.     is usually better absorbed by intramuscular injection than by oral route.

c.    can cause hirsutism on prolonged use. 

d.    is used often with phenobarbitone in grand mal epilepsy.

 

 

22.    Sodium valproate:

 

a.     may aggravate grand mal epilepsy.

b.     is effective in petit mal absences and myoclonic epilepsy.

c.     can potentiate concurrently administered phenobarbitone.

d.     increases brain GABA.

 

 

23.    The pharmacological effects of morphine include:

 

a.     a decrease in sensitivity of respiratory center to CO2.

b.     miosis.

c.     constipation.

d.     diuresis.

 

 

24.   Enkephalins:

 

a.     are pentapeptides with opiate-like activity.

b.     can be considered to be neurotransmitters or neuromodulators.

c.     have analgesic actions.

d.     are endogenous opioids.

 

 

25.    Naloxone:

 

a.      is a more potent opioid antagonist than naltrexone.

b.      is active orally.

c.      will precipitate a withdrawal syndrome in a morphine addict.

d.      pure antagonist at all opioid receptors.

 

 

26.    The tricyclic antidepressants:

 

a.      are capable of enhancing the effects of phenothiazines.

b.      unlike the MAO inhibitors have no mood-elevating effect when given to normal subjects.

c.      at therapeutic doses can cause blurred vision, dry mouth, constipation and urinary retention.

d.      imipramine can be given together with oral contraceptives.

 

 

27.    Digoxin can produce the following effects:

 

a.      nausea.

b.      bradycardia.

c.      lengthening of QT interval on the ECG.

d.      tachycardia.

 

 

28.    Digoxin:

 

a.      is excreted mainly unchanged by the kidneys.

b.      is greater bound to plasma protein than digitoxin.

c.      is better absorbed than digitoxin following oral administration.

d.      undergoes enterohepatic cycling to a greater extent than digitoxin.

 

 

29.    The following drugs increase myocardial excitability:

 

a.      adrenaline.

b.      potassium.

c.      verapamil.

d.      lignocaine.

 

 

30.    Procainamide:

 

a.      is as rapidly hydrolyzed by pseudocholinesterase as possible.

b.      is used as a local anaesthetic.

c.      decrease myocardial excitability.

d.      given intravenously can cause a fall in blood pressure.

 

 

 31.    The following are direct vasodilators:

 

a.     diazoxide.

b.     sodium nitroprusside.

c.     minoxidil. 

d.     clonidine.

 

 

32.    The following actions contribute to the anti-anginal effect of glyceryl trinitrate:

 

a.     venous pooling.

b.     increase in left ventricular end diastolic pressure.

c.     decrease in peripheral resistance.

d.     reflex tachycardia.

 

 

33.    Isosorbide dinitrate:

 

a.     is effective when administered orally.

b.     is effective when administered parenterally.

c.     is shorter acting than glyceryl trinitrate.

d.     slows down the heart rate. 

 

 

34.   Frusemide:

 

a.     acts mainly at the distal tubule.

b.     can cause ototoxicity.

c.     can cause hypokalaemia.

d.     can cause hypoglycaemia.

 

 

35.    The anti-coagulant activity of warfarin sodium:

 

a.      is active both in vitro and vivo.

b.      peaks after about 36h because oral absorption is poor and erratic.

c.      can be potentiated by aspirin.

d.      can be reduced by oral contraceptives.

 

 

36.    Heparin:

 

a.      is rapidly absorbed orally.

b.      can be antagonized by protamine sulphate.

c.      may cause osteoporosis with prolonged use.

d.      is monitored by the prothrombin time.

 

 

37.    The anticoagulant activity of warfarin can be potentiated by:

 

a.      phenylbutazone.

b.      phenobarbitone.

c.      acetylsalicyclic acid.

d.      oral contraceptives.

 

 

38.    Chlorpromazine has the following pharmacological actions:

 

a.      calming of naturally aggressive animals.

b.      interference with dopaminergic neurotransmission of the basal ganglia.

c.      emetic action.

d.      peripheral alpha-adrenergic receptor blocking action.

 

 

39.    The following are potassium-losing diuretics:

 

a.      chlorothiazide.

b.      triamterene.

c.      ethacrynic acid.

d.      spironolactone.

 

 

40.    Barbiturates:

 

a.      are direct neuronal depressants.

b.      may cause dependence on chronic use.

c.      induce REM sleep.

d.      enhance porphyrin synthesis.

 41.    Digoxin:

 

a.     slows ventricular rate and atrial fibrillation.

b.     increases ventricular automaticity in toxic doses.

c.     prolongs P-R interval on the ECG. 

d.     improves cardiac efficiency in cardiac failure.

 

 

42.    Loop diuretics:

 

a.     produces a peak diuresis far greater than that observed with other diuretics.

b.     have an onset of action longer than one hour.

c.     can produce toxicity especially when administered with an aminoglycoside.

d.     can enhance the nephrotoxicity of cephalosporins.

 

 

43.    Renin:

 

a.     converts angiotensin I to angiotensin II

b.     release can be reduced by propranolol.

c.     inhibits release of aldosterone.

d.     is a peptide secreted by the juxtaglomerular granular cells in the afferent and efferent arterioles of the nephron. 

 

 

44.   Spironolactone increases the urinary excretion of sodium:

 

a.      inhibition of aldosterone dependent sodium reabsorption.

b.      inhibition of aldosterone secretion.

c.      inhibiting sodium-potassium exchange at distal tubule directly.

d.      increasing renal blood flow.

 

 

45.    Carbamazepine:

 

a.      is effective in trigeminal neuralgia.

b.      is the treatment of choice in petit mal seizures.

c.      induces its own metabolism.

d.      causes folate and Vitamin D deficiency.

 

 

46.    Frusemide:

 

a.      acts mainly on the ascending loop of Henle.

b.      has a half-life of a few days.

c.      increase risk of nephrotoxicity with gentamicin.

d.      given iv in the management of acute pulmonary edema.

 

 

47.    Halothane:

 

a.      causes respiratory irritation.

b.      is soluble in blood, more so than nitrous oxide.

c.      is hepatotoxic.

d.      undergoes mainly hepatic metabolism.

 

 

48.    Adverse effects of phenothiazine derivatives are:

 

a.      Parkinsonian-like tremor.

b.      postural hypotension.

c.      blurring of vision.

d.      mental confusion.

 

 

49.    Chlorpromazine:

 

a.      undergoes extensive first-pass metabolism when taken orally.

b.      inhibits drug-metabolizing enzymes in the liver.

c.      has a plasma half-life of greater than 24h.

d.      has several active metabolites.

 

 

50.    L-dopa:

 

a.      is hydrolyzed to dopamine.

b.      unlike dopamine, can cross the blood-brain barrier.

c.      is used in Parkinson's Disease.

d.      metabolism is inhibited by carbidopa in the peripheral tissues.

51.    Benzhexol:

 

a.     is an anti-cholinergic drug.

b.     is used to treat Parkinsonism.

c.     decrease intra-ocular pressure. 

d.     increase salivation.

 

 

52.    The MAO inhibitors cause:

 

a.     salivation.

b.     blurred vision.

c.     tremor.

d.     hepatocellular necrosis.

 

 

53.    Drug interactions may occur between imipramine and:

 

a.     adrenaline.

b.     guanethidine.

c.     cimetidine.

d.     phenobarbitone. 

 

 

54.   Among the benzodiazepine group of compounds:

 

a.      flurazepam is less likely than triazolam to cause hangover effects.

b.      anti-convulsive potency of clonazepam is greater than temazepam.

c.      chlordiazepoxide, medazepam and chlorazepate have a common metabolite.

d.      diazepam is absorbed more rapidly than oxazepam after oral administration.

 

 

55.    Compared to phenobarbitone, thiopentone:

 

a.      is more rapidly distributed to the brain.

b.      causes mydriasis.

c.      decreases uterine tone during labor.

d.      stimulates the defecation reflex.

 

 

56.    Pharmacological responses to opioids include:

 

a.      warm and flushed skin.

b.      mydriasis.

c.      decreased uterine tone during labor.

d.      stimulates the defecation reflex.

 

 

57.    Morphine:

 

a.      acts on opioid receptors on the dorsolateral horn of the spinal cord.

b.      normally causes hypertension at therapeutic doses.

c.      has a duration of action of 3 - 5h.

d.      is more potent than buprenorphine.

 

 

58.    Diazepam:

 

a.      has a high therapeutic index.

b.      is a GABA receptor agonist.

c.      possesses anti-convulsant activity.

d.      has a short half-life.

 

 

59.    Verapamil:

 

a.      is well absorbed.

b.      has poor systemic availability when taken orally.

c.      decreases left ventricular function.

d.      excreted mainly unchanged by the body.

 

 

60.    Nifedipine:

 

a.      reduce tone of vascular smooth muscle.

b.      reduce force of contraction on myocardium.

c.      reduce AV nodal conduction.

d.      reduce autorhythmicity of SA node.

61.    An acute attack of angina should be treated with:

 

a.     glyceryl trinitrate.

b.     propranolol.

c.     morphine. 

d.     pentaerythritol tetranitrate.

 

 

62.    The following drugs decrease conduction in the Bundle of His:

 

a.     quinidine.

b.     lignocaine.

c.     phenytoin.

d.     digoxin.

 

 

63.    Quinidine:

 

a.     increases PR interval.

b.     decreases QT interval.

c.     decreases heart rate.

d.     increases heart rate. 

 

 

64.   The characteristic ECG changes produced by cardiac glycosides:

 

a.      prolonged PR interval.

b.      shortened QT interval.

c.      depression of ST segment at high doses.

d.      increased amplitude of T wave.

 

 

65.    Digoxin increases:

 

a.      efficiency of both normal and failing hearts to the same extent.

b.      cardiac output in failing heart without corresponding increase in oxygen consumption.

c.      duration of systole.

d.      vagal tone.

 

 

66.    Sodium nitroprusside:

 

a.      relaxes only venous smooth muscle.

b.      has onset of action greater than 10 minutes after start of IV infusion.

c.      half-life is only less than 30min.

d.      decomposes on exposure to light.

 

 

67.    Clonidine:

 

a.      has a half-life of less than 10min.

b.      inhibits the release of renin.

c.      decreases cardiac output.

d.      produces rebound hypertension less frequently than methyldopa.

 

 

68.    Hydralazine:

 

a.      is a stronger venodilator than arteriodilator.

b.      can cause systemic lupus erythematosus.

c.      is metabolized by hepatic acetylation.

d.      is liable to cause impotence in males.

 

 

69.    Digoxin:

 

a.      is excreted primarily by the kidney.

b.      have a longer half-life than digitoxin.

c.      is completely absorbed from the gut.

d.      action is counteracted by calcium.

 

 

70.    The effect of digoxin on the myocardium is enhanced by:

 

a.      potassium.

b.      calcium.

c.      propranolol.

d.      procainamide.

71.    Tachycardia due to digoxin intoxication can be treated by:

 

a.     phenytoin.

b.     propranolol.

c.     calcium. 

d.     procainamide.

 

 

72.    Verapamil:

 

a.     decreases myocardial contractility.

b.     enhances AV nodal conduction.

c.     shortens the refractory period of conducting tissue.

d.     increases the automaticity of the conducting system.

 

 

73.    Triamterene:

 

a.     is a potassium sparing diuretic.

b.     competitively inhibits the effect of aldosterone at the renal tubules.

c.     inhibits aldosterone secretion.

d.     enhances the diuretic action of chlorthiazide. 

 

 

74.   Methyldopa:

 

a.      is an adrenergic neuron blocker.

b.      can cause haemolytic anaemia.

c.      can cause drowsiness.

d.      can cause postural hypotension.

 

 

75.    Inhibition of angiotensin-converting enzyme:

 

a.      decreases the release of renin.

b.      lowers the blood pressure in essential hypertension.

c.      can produce loss of libido.

d.      can cause bradycardia.

 

 

76.    Intravenous thiopentone:

 

a.      decreases cerebral blood flow.

b.      causes respiratory depression.

c.      is used for the induction of surgical anaesthesia.

d.      has a short duration of action of a few minutes.

 

 

77.    The following general anaesthetics are avoided in electrocautery:

 

a.      cyclopropane.

b.      halothane.

c.      ether.

d.      nitrous oxide.

 

 

78.    The benzodiazepines possess the following properties:

 

a.      their anticonvulsant properties differ markedly.

b.      they do not cause REM sleep suppression.

c.      they can cause problems of drug dependence.

d.      elderly persons are more susceptible to unwanted CNS effects.

 

 

79.    L-dopa in Parkinsonism can be given with:

 

a.      chlorpromazine.

b.      imipramine.

c.      pargyline.

d.      reserpine.

 

 

80.    Phenobarbitone:

 

a.      is used for grand mal seizures.

b.      is a liver microsomal enzyme inducer.

c.      is hydroxylated in the liver.

d.      can cause sedation.

81.    Lithium carbonate:

 

a.     can be used in manic depression.

b.     is well absorbed orally.

c.     can cause muscle weakness and tremor. 

d.     can cause foetal abnormality.

 

 

82.    Imipramine:

 

a.     is demethylated to active metabolites.

b.     blocks the neuronal uptake of noradrenaline.

c.     can cause cardiac arrhythmias.

d.     raise the seizure threshold in epileptics.

 

 

83.    Adverse effects of phenothiazine derivatives are:

 

a.     tardive dyskinesia.

b.     muscle tremor.

c.     cholestatic jaundice.

d.     pigmentation of skin.

 

 

84.   Chlorpromazine produces the following:

 

a.      peripheral adrenergic receptor blocking action.

b.      a rise in body temperature.

c.      peripheral anti-muscarinic actions.

d.      depression of chemoreceptor trigger zone.

 

 

85.    Chlorpromazine:

 

a.      is excreted mainly unchanged.

b.      is eliminated rapidly from the body.

c.      accelerates its own metabolism by enzyme induction.

d.      has quinidine-like effects.

 

 

86.    Quidinine can increase digoxin toxicity by:

 

a.      displacement of digoxin from plasma protein binding sites.

b.      decreasing metabolic breakdown of digoxin.

c.      increasing bioavailability of digoxin.

d.      displacement of digoxin from tissue binding sites.

 

 

87.    Thiopentone is ultra-short-acting because it undergoes:

 

a.      significant first-pass effect.

b.      rapid dissociation into the brain.

c.      rapid re-distribution.

d.      rapid dissociation from plasma protein binding.

 

 

88.    Warfarin sodium:

 

a.      has a long onset of action.

b.      is active in vitro.

c.      is used to maintain anticoagulation

d.      metabolism is induced by carbamazepine.

 

 

89.    State true or false:

 

a.      Fentanyl is a more potent analgesic than morphine.

b.      Morphine produces physical dependence.

c.      Pethidine is the preferred over morphine in general anaesthesia.

d.      Indomethacin is used in the relief of postoperative pain.

 

 

90.    Action of diuretics:

 

a.      diuretics decrease potassium and increase digitalis toxicity.

b.      retention of lithium is increased by any diuretics that increase sodium excretion.

c.      is potentiated by NSAIDs.

d.      can produce glucose intolerance in diabetics.

91.    Blood in a test-tube does not coagulate in the presence of:

 

a.     disodium EDTA.

b.     warfarin.

c.     aspirin. 

d.     heparin.

 

 

92.    Addition of potassium citrate to change urinary pH favors the excretion of:

 

a.     aspirin.

b.     phenobarbitone.

c.     atropine.

d.     morphine.

 

 

93.    The drugs for treating Parkinsonism are:

 

a.     benzotropine.

b.     bromocriptine.

c.     chlorpromazine.

d.     amphetamine.

 

 

94.   Drugs with antidepressant action are:

 

a.      imipramine.

b.      mianserin.

c.      phenelzine.

d.      thioridazine.

 

 

95.    Drugs that cause sedation:

 

a.      morphine.

b.      imipramine.

c.      diphenylhydrazine.

d.      benztropine.

 

 

96.    Diazepam can be used for:

 

a.      epilepsy.

b.      insomnia.

c.      schizophrenia.

d.      alcohol withdrawal syndrome.

 

 

97.    The following are mechanisms of drugs indicated with regard to its action:

 

a.      chlordiazepoxide: potentiate action of GABA.

b.      chlorpromazine: inhibits noradrenaline uptake.

c.      L-dopa: increases brain dopamine synthesis.

d.      bromocriptine: competitive antagonist of dopaminergic receptors. 

 

 

98.    A partial agonist on the same receptor as a pure agonist:

 

a.      will not produce the same maximum response as pure agonist.

b.      will decrease maximum response of pure agonist.

c.      will decrease response to pure agonist when both drugs are present in high concentrations.

d.      is a physiological antagonist of pure agonist.

 

 

99.    Carbamazepine:

 

a.      is the drug of choice in absence seizures.

b.      is excreted largely unchanged by the kidneys.

c.      can cause Steven-Johnson syndrome.

d.      increases brain GABA.

 

 

100.    The most appropriate drug to use in patient with an acute hypertensive crisis in hospital is:

 

a.      propranolol.

b.      frusemide.

c.      methyldopa.

d.      nitroprusside.

101.    The inappropriate statement(s) on dopamine are:

 

a.     it is a precursor for noradrenaline.

b.     it readily enters the blood-brain barrier.

c.     it is formed from L-dopa. 

d.     it is able to decrease the blood pressure by stimulating dopamine receptors.

 

 

102.    The pharmacological effects of codeine include:

 

a.     anti-tussive effect.

b.     anti-pyretic effect.

c.     analgesia.

d.     constipation.

 

 

103.    The following drugs are likely to cause physical dependence:

 

a.     diacetylmorphine.

b.     dextromethorphan.

c.     pethidine.

d.     naloxone.

 

 

104.   Phenothiazines:

 

a.      are extensively bound to plasma proteins.

b.      are well absorbed when taken orally.

c.      are mainly metabolized by oxidation and hydroxylation.

d.      their metabolites are excreted in the urine.

 

 

105.    Diazepam:

 

a.      is extensively bound to plasma proteins.

b.      is slowly absorbed with oral administration.

c.      is metabolized to desmethyl diazepam.

d.      has a half-life of 8h.

 

 

106.    Imipramine:

 

a.      is a tricyclic MAOI.

b.      causes excessive withdrawal effects.

c.      decreases effects of chlorpromazine by induction.

d.      can cause sedation.

 

 

107.    Chlorpromazine is used:

 

a.      to treat Huntington's disease.

b.      to treat acute and chronic syphilitic psychoses.

c.      to treat tardive dyskinesia.

d.      as an anti-emetic in chemotherapy. 

 

 

108.    Digoxin differs significantly from digitoxin in:

 

a.      therapeutic index.

b.      incidence of nausea and vomiting.

c.      extent of metabolism.

d.      usual route of administration.

 

 

109.    Pharmacodynamic actions of verapamil include:

 

a.      AV nodal conduction.

b.      positive inotropic effect on myocardium.

c.      depresses autorhythmicity of SA node.

d.      decrease tone of arterioles.

 

 

110.    Antimuscarinic effects may occur with the following drugs:

 

a.      hyoscine.

b.      promethazine.

c.      tricyclic antidepressants.

d.      chlorpromazine.

111.    The following drug interactions may occur in patients with monoamine oxidase (MAO) inhibitors:

 

a.     hypertension after administration of L-dopa.

b.     antagonism of the hypotensive actions of guethidine.

c.     a hypotensive response following ingestion of foods containing tyramine. 

d.     a decreased response to tolbutamide.

e.     potentiation and prolongation of the action of pethidine.

 

 

112.    Tricyclic antidepressants such as imipramine:

 

a.     are free of adverse effects on the heart.

b.     can cause convulsions.

c.     are routinely used in conjunction with MAO inhibitors in the treatment of endogenous depression.

d.     can cause dry mouth and blurred vision.

e.     can cause postural hypotension.

 

 

113.    Methylxanthines:

 

a.     can have an arousing effect in the CNS.

b.     can increase intracellular levels of cAMP.

c.     compete for adenosine-binding sites.

d.     include aminophylline which causes bronchodilation.

e.     decrease calcium entry into intracellular stores.

 

 

114.   The following act as dopamine-receptor agonists:

 

a.      metoclopramide.

b.      fluphenazine decanoate.

c.      bromocriptine.

d.      benztropine.

e.      amantidine.

 

 

115.    Blockade of dopamine receptors:

 

a.      can be an effective treatment for psychotic conditions.

b.      occurs with haloperidol.

c.      can lead to infertility.

d.      can cause a Parkinsonian syndrome.

e.      is an effective treatment of depression.

 

 

116.    Vomiting can be caused by:

 

a.      blockade of dopamine receptors in the chemoreceptor trigger zone.

b.      metoclopramide.

c.      ipecacuanha.

d.      5-HT3 antagonists.

e.      naloxone.

 

 

117.    Dopa decarboxylase:

 

a.      is present in adrenergic fibers.

b.      catalyzes the conversion of trytophan to tyramine.

c.      catalyzes the conversion of 5-hydroxytryptophan to serotonin.

d.      converts levodopa to dopamine.

e.      is inhibited by benserazide. 

 

 

118.    When L-dopa is used in the treatment of Parkinson's disease it:

 

a.      has useful anti-emetic activity.

b.      may be combined with carbidopa to reduce metabolism of L-dopa outside the brain.

c.      is converted to a false transmitter.

d.      can cause psychotic behavior.

e.      is actively taken up by dopaminergic neurons in the CNS.

  

 

119.    The following drugs, by affecting dopaminergic mechanisms, can have the actions indicated:

 

a.      neuroleptics can induce akathesia.

b.      reserpine can alleviate the symptoms of Parkinson's disease.

c.      chlorpromazine can bring about tardive dyskinesia.

d.      chlorpromazine can be used to treat tardive dyskinesia.

e.      mazindol has anorectic activity.

 

  

120.    Chlorpromazine:

 

a.      is used to treat Parkinson's disease.

b.      causes a dry mouth.

c.      causes urinary retention.

d.      causes gynaecomastia.

e.      is a useful appetite suppressant.

121.    Major tranquilizers:

 

a.     are used as hypnotics.

b.     are drugs such as barbiturates and benzodiazepines.

c.     include the phenothiazines and butyrophenones. 

d.     are used in the treatment of psychotic disorders.

e.     frequently have dopamine-receptor blocking properties.

 

 

122.    5-HT:

 

a.     storage is disrupted by reserpine.

b.     concentration in nerves is increased by MAO inhibitors.

c.     can cause increased gastrointestinal motility.

d.     stored in enterochromaffin cells has a neurotransmitter role.

e.     re-uptake into neurons is unaffected by clomipramine.

 

 

123.    The following drugs affect 5-HT mechanisms in the ways indicated:

 

a.     L-tryptophan blocks the synthesis of 5-HT.

b.     methysergide is a 5-HT receptor agonist.

c.     lysergic acid diethylamide (LSD) is a 5-HT receptor blocker.

d.     fenfluramine can release 5-HT.

e.     cyproheptadine can block 5-HT receptors.

 

 

124.   The following are amino-acid neurotransmitters which decrease neural activity.

 

a.      glycine.

b.      glutamic acid.

c.      gamma-amino butyric acid (GABA).

d.      leucine enkephalin.

e.      tyrosine.

 

 

125.    Gamma-amino butyric acid (GABA):

 

a.      is found in high concentrations in the basal ganglia.

b.      concentration in the basal ganglia are abnormally low in Huntingon's chorea.

c.      receptors are sensitive to the activity of benzodiazepines.

d.      metabolism is inhibited by sodium valproate.

e.      receptor blockers have anticonvulsant activity. 

 

 

126.    Lithium:

 

a.      is used as an anxiolytic.

b.      has a large therapeutic / toxic ratio.

c.      is best given at 4 hourly intervals.

d.      is more toxic in Na depleted patients.

e.      toxicity can be reversed by a thiazide diuretic.

 

 

127.    The following statements about benzodiazepines are true:

 

a.      they lack anxiolytic activity.

b.      they are used as hypnotics.

c.      they have anticonvulsant actions.

d.      they are effective antidepressants.

e.      they are free of the risk of dependence.

 

  

128.    Temazepam:

 

a.      produces inactive metabolites.

b.      increases rapid eye movement (REM sleep).

c.      is a potent enzyme inducer.

d.      causes less hangover than nitrazepam.

e.      causes rebound insomnia.

 

 

129.    The following can occur with prolonged use of barbiturates:

 

a.      tolerance to the actions of other hypnotics.

b.      bleeding by displacing warfarin from plasma protein-binding sites.

c.      abnormally rapid metabolism of estrogens.

d.      status epilepticus on withdrawal of barbiturate.

e.      tolerance to a similar degree to both the hypnotic and respiratory depressant actions.

 

  

130.    The following barbiturates are commonly used for the purposes indicated:

 

a.      thiopentone: as an anxiolytic.

b.      methonexitone: for the relief of pain.

c.      phenobarbitone: in status epilepticus.

d.      phenobarbitone: in long-term therapy of epilepsy.

e.      pentobarbitone: to induce general anaesthesia.

131.    The following statements are true:

 

a.     phenytoin can induce its own metabolism.

b.     primidone is metabolized to phenobarbitone.

c.     sodium valproate is effective in all forms of epilepsy.

d.     phenytoin can cause gum hyperplasia and acne.

e.     ethosuximide is used in the treatment of petit mal epilepsy.

 

 

132.    The following are used in the treatment of grand mal epilepsy.

 

a.     phenytoin.

b.     phenobarbitone.

c.     nikethamide.

d.     diazepam.

e.     primidone.

 

 

133.    The following drugs can cause convulsions:

 

a.     doxapram.

b.     strychnine.

c.     tricyclic antidepressants.

d.     methohexitone.

e.     picrotoxin.

 

 

134.   Blockade of muscarinic receptors in the CNS:

 

a.      by hyoscine leads to agitation and excitement.

b.      causes nausea and vomiting.

c.      by hyoscine can impair short-term memory.

d.      by atropine may be reversed by physostigmine.

e.      by benztropine can decrease tremor in Parkinson's disease.

 

 

135.    Morphine:

 

a.      mimics the actions of enkephalins.

b.      does not cause dependence.

c.      can cause constipation.

d.      acts as a partial agonist.

e.      is only administered orally.

 

 

136.    Beta-endorphin is:

 

a.      a peptide.

b.      a neurotransmitter.

c.      present in the pituitary.

d.      an opiate-receptor antagonist.

e.      an analgesic.

 

 

137.    H1-receptor blockers:

 

a.      have an arousing action in the CNS.

b.      are used as anti-emetics.

c.      include chlorpromazine.

d.      may have muscarinic receptor-blocking actions.

e.      prevent histamine-induced gastric secretion.

  

 

138.    Codeine:

 

a.      occurs in opium.

b.      frequently causes diarrhoea.

c.      is used to treat nausea caused by morphine.

d.      is equipotent to morphine.

e.      depresses the cough reflex.

 

 

139.    Indicate whether the following statements are correct:

 

a.      naloxone will precipitate withdrawal symptoms in a morphine addict.

b.      naloxone is a useful in treating barbiturate-induced respiratory depression.

c.      pethidine is a useful cough suppressant.

d.      pethidine constricts the pupil.

e.      naloprine is a partial agonist.

  

 

140.    The following statements are true:

 

a.      tolerance to, and dependence on, ethanol do not occur.

b.      methanol is more rapidly metabolized than ethanol.

c.      ethanol can be given to reduce the toxic actions of methanol.

d.      ethanol is a clinically used diuretic.

e.      ethanol metabolism is accelerated by disulfiram.

141.    Hallucinations can occur with the following drugs:

 

a.     tetrahydrocannabinol.

b.     2-bromolysergide.

c.     pentazocine.

d.     naloxone.

e.     ethanol.

 

 

142.    The following statement(s) about general anaesthetics are correct:

 

a.     enflurane commonly causes liver dysfunction.

b.     halothane should not be used in patients requiring repeated anaesthesia.

c.     general anaesthetics cause respiratory depression.

d.     ketamine has useful analgesic properties.

e.     the action of thiopentone is terminated by redistribution from plasma to well-vascularized tissues.

 

 

143.    Nitrous oxide:

 

a.     can be used, with oxygen, as a carrier gas for halothane.

b.     has poor analgesic property.

c.     forms a vapor which is explosive.

d.     sensitizes the heart to the action of catecholamines.

e.     is an effective agent for inducing anaesthesia.

 

 

144.   Halothane is a general anaesthetic which:

 

a.      is inflammable.

b.      irritates mucous membrane.

c.      can cause liver damage.

d.      can sensitize the heart to the actions of catecholamines.

e.      can cause vasomotor and respiratory depression.

 

 

145.    Thiopentone:

 

a.      is a highly lipid-soluble barbiturate.

b.      is used intravenously to induce anaesthesia.

c.      has its anaesthetic action terminated by metabolism to an inactive compound.

d.      has good analgesic properties.

e.      can cause convulsive movements.

 

 

146.    The following are long-acting benzodiazepines:

 

a.      clorazepate.

b.      lorazepam.

c.      oxazepam.

d.      triazolam.

e.      prazepam.

 

 

147.    Beta-blockers are contraindicated in:

 

a.      pregnancy.

b.      diabetes mellitus.

c.      heart failure.

d.      asthma.

e.      angina pectoris.

 

  

148.    The following drugs antagonize the actions of L-dopa:

 

a.      pyridoxine.

b.      phenothiazines.

c.      MAO inhibitors.

d.      tricyclic antidepressants.

e.      reserpine.

 

 

149.    Pethidine differs from morphine in that:

 

a.      it has a greater potency.

b.      less likely to cause respiratory depression.

c.      does not suppress cough.

d.      causes less nausea and vomiting.

e.      does not cause dependence.

 

  

150.    The following statements are true of SSRIs:

 

a.      insomnia and weight loss are common side effects.

b.      have fast onset of action.

c.      ejaculatory delay is a rare side effect.

d.      does not have cardiovascular effects.

e.      is an enzyme inducer of cytochrome P450.

Pharmacology of Antimicrobials and Cytotoxic drugs
  

 

1.    Metronidazole:

 

a.    produces a furred tongue on long-term therapy.

b.    sometimes colors urine brownish-red.

c.    is used in the treatment of trichomoniasis.

d.    is converted to the active form in susceptible anaerobes.

  

 

2.    Sulfonamides:

 

a.    can cause crystalluria.

b.    are secreted into breast milk.

c.    can cross the placenta proper.

d.    can displace bilirubin from plasma protein binding sites.

 

  

3.    Sulfamethoxazole:

 

a.    is a precursor of para-aminobenzoic acid.

b.    inhibits the enzyme.

c.    is the sulfonamide present in cotrimoxazole.

d.    is used in place of para-aminobenzoic acid by susceptible bacteria.

 

  

4.    Gentamicin:

 

a.    acts on susceptible organisms by inhibiting protein synthesis.

b.    is mostly excreted unchanged by the kidneys.

c.    is extensively mobilized by the liver.

d.    forms a complex with carbenicillin when given in the same infusion fluid.

 

  

5.    Adverse effects of chloramphenicol:

 

a.    bone marrow depression.

b.    grey baby syndrome.

c.    suprainfection.

d.    ototoxicity.

 

  

6.    Penicillin G:

 

a.    is a benzylpenicillin.

b.    is a bacteriostatic antibiotic.

c.    resistance is usually in the result of the production of penicillase by bacteria.

d.    is given orally.

 

  

7.    The mechanisms of the following antibiotics are as indicated:

 

a.    penicillin: inhibition of cell wall synthesis.

b.    chloramphenicol: inhibition of protein synthesis.

c.    amphotericin B: interference with cell membrane activity.

d.    rifampicin: interference with RNA synthesis.

 

  

8.    Hypersensitivity reactions to penicillin:

 

a.    can occur with all penicillin.

b.    are dependent on the dosage.

c.    can occur only after previous exposure to the drug.

d.    can be fatal.

 

 

  

9.    Rifampicin:

 

a.    is a bacteriocidal antibiotic.

b.    acts by preventing synthesis of RNA polymerase.

c.    well absorbed after oral administration.

d.    undergoes enterohepatic circulation.

 

  

10.    Isoniazid:

 

a.    inhibits the hydroxylation of phenytoin.

b.    penetrates the CSF.

c.    can cause pellagra.

d.    causes peripheral neuritis.

11.    Methicillin:

 

a.     has less potent antimicrobial activity against microorganisms.

b.    is poorly absorbed orally.

c.    is resistant to the action of penicillamase.

d.    is readily effective against S.aureus.

 

 

12.    Chloramphenicol:

 

a.     is poorly absorbed orally.

b.     is excreted after glucuronide conjugation.

c.     can cause fatal pancytopenia.

d.     is not effective against anaerobes.

 

 

13.    Benzylpenicillin:

 

a.     when given orally is better absorbed than phenoxy-methyl-penicillin.

b.     hypersensitivity reaction is dose-related.

c.     can be used to treat pseudomonas infection.

d.     is eliminated mainly by the liver.

 

 

14.    Trimethoprim and sulfamethoxazole combination (cotrimoxazole):

 

a.     has a ratio of 1:10 respectively.

b.     produces sequential inhibition of tetrahydrofolate synthesis.

c.     is well absorbed orally.

d.     can cause skin eruption.

 

 

15.    Doxycycline:

 

a.      is poorly absorbed when given orally.

b.      is excreted mainly by the kidneys.

c.      can cause discoloration of teeth in kids.

d.      has a very short half-life.

 

 

16.    Methotrexate:

 

a.      is a structural analogue of PABA.

b.      reduces cellular level of tetrahydrofolate.

c.      can be given at very high doses if followed by leucovorin.

d.      is used for the treatment of choriocarcinoma.

 

 

17.    Resistance in cytotoxic drugs is due to:

 

a.      metastasis.

b.      increased DNA repair.

c.      marrow recovery.

d.      increased permeability.

 

 

18.    Erythromycin:

 

a.      commonly causes impaired hearing.

b.      may be used as an alternative to treat a minor streptococcus infection.

c.      may cause epigastric discomfort when given orally.

d.      is excreted in the bile and urine.

 

 

19.    The following drugs are ototoxic:

 

a.      polymyxin B.

b.      ethacrynic acid.

c.      streptomycin.

d.      kanamycin.

 

 

20.    Moxalactam:

 

a.      is a synthetic beta-lactam.

b.      has a broad spectrum anti-bacterial action.

c.      enters the CSF in sufficient amounts to be useful in meningitis.

d.      has greater activity against staphylococci compared to cephalothin.

21.    Aminoglycosides:

 

a.     should not be mixed with penicillins.

b.     are well absorbed orally.

c.      are ototoxic.

d.      are excreted unchanged in the urine.

 

 

22.    Aspirin increases methotrexate toxicity by:

 

a.      displacement of methotrexate from plasma protein binding sites.

b.      inhibiting renal excretion of methotrexate.

c.      inhibiting hepatic metabolism of methotrexate.

d.      increasing the intestinal absorption of methotrexate.

 

 

23.    6-mercaptopurine:

 

a.      is a toxic antibiotic drug in cancer chemotherapy.

b.      inhibits cell division by binding to micro-tubular proteins.

c.      is used in the therapy of leukaemia.

d.      is converted to an active metabolite.

 

 

24.     The alkylating agent:

 

a.       cyclophosphamide is metabolized by the liver to precursors of active metabolite.

b.      chlorambucil is used for therapy of chronic lymphocytic leukaemia.

c.      carmustine crosses the blood-brain barrier.

d.      mustard (chlorethanamine) is not given orally.

 

 

25.    Tetracycline absorption may be reduced by:

 

a.      aspirin.

b.      aluminium hydroxide.

c.      ferrous sulphate.

d.      calcium carbonate.

 

 

26.    Erythromycin stearate:

 

a.      is susceptible to penicillinase.

b.      is unstable in gastric acid.

c.      is an alternative to tetracycline in mycoplasma infections.

d.      inhibits the formation of bacterial cell wall.

 

 

27.    Gentamicin:

 

a.      is well absorbed orally.

b.      is mainly excreted.

c.      is effective against Pseudomonas aeruginosa.
d.      is nephrotoxic.

 

 

28.     Metronidazole:

 

a.      is useful for the treatment of amoebiasis.

b.      potentiates the anticoagulant effects of racemic warfarin.

c.      sometimes colors the urine brownish-red.

d.      is liable to produce reversible leukopenia.

 

 

29.    Bacteria develop resistance to an antimicrobial by:

 

a.      changing sex.

b.      changing their permeability to the drug.

c.      producing enzymes that inactivates the drug.

d.      transformation.

 

 

30.    Ampicillin:

 

a.      is effective against Haemophilus influenzae.
b.      is resistant to staphylococcal penicillamase.

c.      is stable in stomach acid.

d.      undergoes enterohepatic circulation.

31.    The cephalosporins:

 

a.      like cefamandole and cefoxitin have wide antimicrobial spectrum.

b.      are structurally related to penicillins and some are degraded by penicillinase.

c.      are usually effective against infections caused by Klebsiella pneumoniae.
d.      do not show cross-sensitivity reactions with penicillins.

 

 

32.    The adverse effects of tetracyclines include:

 

a.      fatty infiltration of the liver.

b.      permanent yellow discoloration of the teeth.

c.      pain on intramuscular injection.

d.      suprainfection.

 

 

33.    Isoniazid:

 

a.      inhibits liver microsomal enzymes.

b.      undergoes hepatic acetylation.

c.      indicated as prophylaxis for children who are household contacts of patients with active TB infection.

d.      is contraindicated in pregnancy.

 

 

34.     Rifampicin:

 

a.       interferes with mycobacterial DNA-dependent RNA polymerase.

b.       is hepatotoxic.

c.       can cause thrombocytosis.

d.       causes thrombocytopenia.

 

 

35.    Ethambutol:

 

a.      is useful as a first-line drug in anti-tuberculosis therapy.

b.      can be used alone in anti-TB treatment without causing bacterial resistance.

c.      can cause visual disturbances on long-term use.

d.      is mainly excreted unchanged by the kidney.

 

 

36.    Tetracyclines:

 

a.      are well distributed in tissues and body fluids.

b.      minocycline is used in meningococcal prophylaxis.

c.      usually accumulate in renal failure except for doxycycline.

d.      bacteriocidal in action.

 

 

37.    Cyclophosphamide:

 

a.      is used in the treatment of acute leukaemia.

b.      inhibits folate reductase.

c.      is converted to active metabolites in the body.

d.      can cause alopecia.

 

 

38.    The following alkylating agents can be administered orally:

 

a.      cyclophosphamide.

b.      busulfan.

c.      chlorambucil.

d.      dacarbazine.

 

 

39.      Sulfamethoxazole:

 

a.      is well absorbed orally.

b.      causes haemolytic anaemia in people with G6PD deficiency.

c.      causes kernicterus in the neonate.

d.      is often combined with trimethoprim.

 

 

40.     Metronidazole:

 

a.      is only effective when given parenterally.

b.      is used mainly to treat infection caused by aerobic bacteria.

c.      diffuses poorly into all tissues and body fluids.

d.      disulfiram-like effect with alcohol.

41.    Fluroquinolones:

 

a.      ciprofloxacin has the greatest antimicrobial activity.

b.      have good activity against enterobacteriaceae.

c.      have poor activity against streptococci and anaerobic organisms.

d.      pefloxacin penetrates CSF well.

 

 

42.    Adverse reactions to aminoglycosides include:

 

a.      hepatotoxicity.

b.      renal toxicity.

c.      vestibular impairment.

d.      auditory impairment.

 

 

43.    The penicillins:

 

a.      after absorption are widely distributed throughout the body.

b.      are secreted mainly unchanged through the renal tubules.

c.      enters the CSF in effective concentrations in meningitis.

d.      can cause hypersensitivity reactions.

 

 

44.    The following penicillins are stable at acid pH of gastric juice:

 

a.      ampicillin.

b.      penicillin G.

c.      phenoxymethylpenicillin.

d.      cloxacillin.

 

 

45.    Cefotaxime, a 3rd generation cephalosporin

 

a.      has a broad spectrum of action.

b.      does not enter into the CSF easily.

c.      can be given safely to patients who are allergic to penicillin.

d.      is well absorbed orally.

 

 

46.     Cephalosporins:

 

a.      have a basic structure of a beta-lactam ring fused to a thiazolidine ring.

b.      have a broader spectrum of activity than benzylpenicillin.

c.      may be given to safely to patients who are allergic to penicillins.

d.      inhibits peptidoglycan synthesis.

 

 

47.    The following act by inhibition of protein synthesis by binding to 50S subunits of bacterial ribosomes:

 

a.      erythromycin.

b.      chloramphenicol.

c.      tetracycline.

d.      aminoglycosides.

 

 

48.    Amphotericin B:

 

a.      acts by binding to sterol component of fungal membrane.

b.      is well absorbed orally.

c.      is used to treat systemic infections.

d.      causes renal toxicity.

 

 

49.    Cytarabine and 5-fluorouracil:

 

a.      are both cell-cycle specific drugs.

b.      interfere with DNA synthesis.

c.      enter the CSF in effective concentrations.

d.      are excreted unchanged by the kidneys.

 

 

50.    The following drugs are likely to cause problems in a patient with renal disease if the dosage regime is not decreased:

 

a.      digoxin.

b.      procainamide.

c.      tobramycin.

d.      doxycycline.

 

51.    The following tetracycline(s) is/are safe to use in renal failure:

 

a.      doxycycline.

b.      minocycline.

c.      methacycline.

d.      chlortetracycline.

 

 

52.    The following bacteria is/are sensitive to gentamicin:

 

a.      Streptococcus pyogenes.

b.      Escherichia coli.

c.      Klebsiella spp.

d.      Streptococcus pneumoniae.

 

 

53.    Gentamicin:

 

a.      is well absorbed orally.

b.      has a low therapeutic index.

c.      is mostly metabolized by the liver.

d.      can enter into the CSF.

 

 

54.    Penicillins:

 

a.      after absorption are widely distributed throughout the body.

b.      are excreted mainly by renal tubules.

c.      enter the CSF in effective concentration in meningitis.

d.      cause hypersensitivity reaction.

 

 

55.    Vidarabine:

 

a.      enters CSF readily.

b.      is excreted mainly by the kidney.

c.      is active against RNA viruses.

d.      and its metabolites have equivalent anti-viral activity.

 

 

56.    Nystatin:

 

a.      inhibit fungal cell wall synthesis.

b.      is well absorbed orally.

c.      is used in the treatment of systemic mycosis.

d.      is used in the treatment of candidiasis of the oropharynx.

 

 

57.    Vancomycin may produce the following adverse effect(s):

 

a.      renal damage.

b.      8th nerve damage.

c.      thrombophlebitis.

c.      chills and fever.

 

 

58.    The following inhibit bacterial protein synthesis:

 

a.      penicillin.

b.      aminoglycosides.

c.      erythromycin.

d.      clindamycin.

 

 

59.    The danger of crystalluria with sulfonamides is reduced by:

 

a.      potassium citrate.

b.      sodium bicarbonate.

c.      ammonium chloride.

d.      increased intake of water.

 

 

60.    A 64-year-old man was admitted with peritonitis in state of shock. He has a history of diverticulitis which probably caused the peritonitis. What should be the effective antibiotic therapy:

 

a.      cefotaxime + gentamicin.

b.      cloxacillin + cefotaxime + gentamicin.

c.      penicillin G + gentamicin + metronidazole.

d.      ampicillin + streptomycin + cefoxitin.

61.    The following antibiotic(s) is/are effective in elimination of meningococcal organism from the nasopharynx of healthy carriers:

 

a.      benzylpenicillin.

b.      minocycline.

c.      rifampicin.

d.      cloxacillin

 

 

62.    Patient who was allergic to penicillin developed skin infection and S.aureus was isolated from the lesion. No systemic signs of sepsis were seen. When lesion did not respond to local treatment, an oral course of antibiotics was given. The antibiotics should be:

 

a.     cloxacillin.

b.     sulfadiazine.

c.     erythromycin.

d.     ampicillin.

 

 

63.    Methicillin:

 

a.      has less potent antimicrobial activity against microbes that are sensitive to penicillin G.

b.     is poorly absorbed orally.

c.     is resistant to the action of penicillinase.

d.     is usually effective against S.aureus.

 

 

64.    Metronidazole:

 

a.      is poorly absorbed when given orally.

b.      may cause a disulfiram-like effect when taken with alcohol.

c.      can be used to treat anaerobic infection.

d.      has a nitroimidazole structure.

 

 

65.    The first-line treatment for anti-TB are:

 

a.      kanamycin.

b.      pyrizinamide.

c.      ethambutol.

d.      isoniazid.

 

 

66.    The following drugs inhibit bacterial cell wall synthesis:

 

a.      cephalosporins.

b.      tetracycline.

c.      chloramphenicol.

d.      vancomycin.

 

 

67.    Chloramphenicol:

 

a.      is poorly absorbed and metabolized in humans.

b.      glucuronide has no antimicrobial activity.

c.      enters the CSF poorly.

d.      can cause aplastic anaemia.

